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Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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For questions 1 to 10, the answers must be expressed in integer
or decimal.

HE1ZE10 8, EXVAMUEEES/NMERT

1) 195+15=2 [1%]
) 37+9.63=7 [1%]
3) 55x04=2 [1%]
4 198+66="2 [1%]
5 18.13+037="2 [1%]
6) 101.01-10.1=2 [1%]
7)) 5.05%22=2? [1%]
8)  23+8x56="7 [1%]
9) %+ 100% = ? 11%]
10) 88.88—77.77+11="2 [1%]
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For questions 11 to 15, the answers must be expressed in proper
fraction, integer or mixed number.

BE 11 Z215 &, ERWAUETH. BHAFTHERT

1) Evaluate 1 + i S [1%]

QN | —

s 3 1
ATE 1+ - o
;] 1 c

12) Evaluate 0.5 — 5% + % . [1%]

S8 0.5 5%+ ; o

13) Evaluatel - —_ 1L _ 1 _ 1 [1%]
3 9 27 8l
N o111
gL 1 1 1
AtH 3 9 27 38l
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14) Evaluate =+ 0+ . 1~ [1%]
5 35

e 2.6 .5 1

15) Evaluate 100%+( 1‘5‘ - 2 ) [1%]

" 14 5
AT E 100% +( - ) '
AT E 100% 5

16) A ribbon is 141.3 ¢cm long. Tommy cuts it into 9 pieces [2%]

equally. How long is each piece of ribbon in cm? (Leave
your answer in decimal.)

INAEEB—ER 1413 EXRNSE TP 9 K.
BRHERZSDVEX? (EEUNERT. )
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17) Each apple costs $4.70. Mary has $58.70. How many [2.1%)]
apples can she buy at most?

EREEE47T, NEESSTT, MREAJEER
% /M@ 2

18)  Each apple weighs 0.16 kg and each lemon weighs % kg. [2.2%]
What is the total weight of 5 apples and 3 lemons in kg?
(Leave your answer in proper fraction, integer or mixed

number.)

ERSEE 0.16 AF #’EEEEIE%/\EO 5 E35
23 EESEESONR? (ERUESN. B
o)

£t

E%ﬂ\ﬁﬁ/

7’
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19) Apizza weighed 3 kg. Andy ate % kg, which was half of [2.3%]
what Bernice ate. How many kilograms of pizza are left?
(Leave your answer in proper fraction, integer or mixed

number.)

—EREE S ke, NEET % ke, SNEIEH—%,
B S D ke? (ERLIENH. BEHHBIHET. )

20) When the cuboid below is cut into a net, what is the area [2.4%]
of the net in cm?2?

IETENRAFESE R —EERERE, ZBREK
REERZDFERENK?

50 cm 90 cm

45 cm
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21) The area of a trapezium is 72.5 cm?. If its lower base is  [2.5%]
6.8 cm and its height is 12.5 cm, what is the length of the
upper base of the trapezium in cm? (Leave your answer in
decimal.)

HENEER 725 FFEX. ERNTERZ 6.8 EX,
B R25EX. EEAREHLERSVEX? (BR
ILNEILRT: )

22) When 1.2 L of water is poured into the tank, the water [2.6%]
level will rise by 7.5 cm. Find the width of the tank in
cm.

12 FRKEINKESEE, KEERT 7.5 E¥k.
KRR ORRER 5 DBk ?

2

18 cm

17 cm
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23) The average of 4 numbers, a, b, ¢, and d is x. If each number [2.7%]
1s multiplied by 2 and then added by a, what is the average
of the 4 new numbers?

MEEHE a by ¢ 1 d (I E x. EEESIEL
T 212BME o, IREFHOESIRAFEIHEZ T
FE?

24) An n-gonal pyramid has 4 vertices, B faces and C edges. [2.8%]
Find 4 + B—C.

—{En FERE AEIR. BEEM C#Htg. KA4+B-C.
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25)

There were a total of 260 dolls and toy cars in a toy shop. [2.9%]
25% of the toys were dolls. After selling 40% of the toy
cars, how many toy cars are left?

MBI AEEAASLEE 2604, FBEEEEREY25% .
EEHIMABERN40% %, BERTIMEES D2

26)

A rectangular water tank 1s 25 cm long, 20 cm wide, and [3%]
23 cm tall. The depth of water in the tank 1s 17 cm. After

putting 12 cubes of side length 5 cm into the tank, what 1s

the new water level of the tank in cm?

RAE/KER2SEX, B20FEX, 523 EX, @\
28 17 [EXFEAIK. &8 12 fLER 5 EXPEFE
NN, KEEEAZZDEK?
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27) There is some water in a tank which 1s 10 cm long, 14 cm [3.1%]
wide, and 16 cm tall. When a 1200 cm?3 toy car is placed
into the tank, 500 mL of water will overflow. What is the

original depth of water in cm?

—EE 10cm, B ldcm, 5 16 cmIKIRENES
—Ebsk , fE—Z2 1200 cm? HIFTEERUEKIREE
BHHTAK 500 mL. KOAUEASZDER?

28) A cuboid is 14 cm tall and 13 cm wide. Its length is 2 [3.2%]
times the sum of its height and its width. What is the
volume of the cuboid in cm3?

—EARAFES I4EX, BI13EX, EESMEZF
102 5. EEEFBORER S by FER?
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29) May weighed 40 kg last year, she weighs 5% more this [3.3%]
year. Kate weighed 48 kg last year, she weighs 5% less
this year. What 1s the difference between their weights in
kg now? (Leave your answer in decimal.)

PR FFRHEERSIONT, SFEMT 5%. HIE
TENEER 8T, SERHDT 5%. HFIIRAE
REEEEZDAT? (ZEEUNMERTE. )

30) Solve the equation for x. [3.4%]
X x BIE-

1 —x
X

=10

P10
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31) The five cubes below are identical. Draw the missing [4%]
shape.

AT AEHERMNIERRE, =EHERERESR.

L= N— — / —
?

Ol J A=}

32) Find the units digit of 2042%1% + 2022020 + 203221 [4.1%]

204017 +20229%0 + 2032 AN R D2

P11
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33) 2+8+14+20+...+224+230="7 [4.2%]
34) If 1 1 = 8 , find the value of x. (Leave [4.3%]
-1 ’
— -1
X

your answer in proper fraction, integer or mixed number.)

B 41 21 . g Ko BE. (EENE

=

TE. BEHEFTHRR. )

P12
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35) Among the 150 integers from 1 to 150, at least how many [4.4%]
numbers must be picked so that there must be two
numbers whose product is 8647

£ 1E 15015 150 EBE+ , HMESHhHZMEL
ABEREPMELZTER 8647

1090 1115 . 2226
36 _ + =0 4.5%
) 3337 3337 | 3337 [4.57]

P13
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37) 1-22+3% 42+ ...+20192-2020%+2021%> =2 [4.6%)]

38) In a field, each cow consumes the grass at a constant rate [4.7%]
while the grass grows at a constant rate every day. If 36
cows consume the whole field in 3 days and 15 cows
consume the whole field in 9 days, how many days would
be needed for 8 cows to consume the whole field?

WiEmEtE—REM, BEFEXE—ENENE,
ERXER—TEHNME. 36 BN 3 XERTE,
15 €41z 9 XEIZEE. B 8 EFZ VORI GIZ

= e
TR?

P14
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39) In a project, if A works alone for 5 days and then works [4.8%]
with B for 8 days, % of the entire project will be
completed. The ratio of work efficiency of A and B is 4:3.

If the project is started by B alone for 12 days, and then
the remaining project is completed by A alone, how many
days does it take for A to complete?

—IETHE, EREEBRMS K, EEFRI—EHIX,
REMLETRN — . PRZHIERENLR
43, HEEIRTHIZERM 12X, EEHRES
ERTE®HRTIRE, RREESDRAETH?

40) 1x4xT+2x5x8+3x6X 9+, +35x38x41+36x39x42=2  [4.9%]

End of paper
£ET

P15
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